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| Canstruet the shear and moment dizgrams for beam ABC. (Fig. [} {20%%)

2. Beatn ABCD is toysionaily fixed at endz A and C, A load P is acting ot member BI. Tt was found
that torsions 2t both ends A and C are the same, The value of the torsions is X KN-t, and E &5 10

kM. Construct the shear and bending diagrams for niember BD. (Fig 2) {20%4)

3. A simple bram AD sopporls two concentated Joads P oot the positions shown in the figure. A
suppoct G at he midpoint of the beam is positioned at distance d betow the beam before the loads
are applied. Assutsing that d=10 s, L= 6 tm, E = 200 GPa, and 1 = 164> 108 mm?, caleulate the

magvitde of the loads P 50 that the begm just touches the support at C. (Fig, 3320%)

4. An ovethanging beam ABC iz suppotied at end A by 2 pin suppodt and at B by a spring of
stiffiiess k (zee figure). Span AR has lenpth Loand camies a uniform load of intensity g The
overhang BC haz lenpgth b For what stiffncss of the spring will the uniform load produce no
deflection at the free end C 7 {Fig. 4) (20%5)

3. Dretermine the critical load Pey for the bar-spring system shown in hguee 5, {2004)
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